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	11.
	Water freezes at 0 degrees Celsius or less. Which inequality represents the temperature at which water freezes, w?

	

	 
		A.
	w > 0




	
	

	 
		B.
	w <>




	
	

	 
		C.
	w ≤ 0




	
	

	 
	 

	12.
	A bank requires customers to keep at least 25 dollars in their checking accounts.The bank manager incorrectly graphed an inequality to represent this situation on the number line below.
 
[image: /files/assess_files/4e27ca0b-a01a-4e24-8b33-269acd136ba5/image/adc4e06e-2b13-447e-ae69-1ad92b84b06b.gif]

How can the bank manager correct the mistake?

	

	 
		A.
	  Change the circle to 24.




	
	

	 
		B.
	  Change the circle to 26.




	
	

	 
		C.
	  Change the closed circle to an open circle.




	
	

	 
		D.
	  Change the shading to the right of the circle.




	
	

	 
	 









	13.
	Morgan wants to buy a ticket to a football game. All the tickets for the game were more than $40 per ticket. Which graph shows the amount of money Morgan will spend for a ticket to the game?

	

	 
		A.
	
[image: /files/assess_files/d391b491-8fba-45bc-821c-632c515bfcd1/I381510_1.png]





	
	

	 
		B.
	
[image: /files/assess_files/408ca459-ce78-4447-a6d6-249bde8ded19/I381510_2.png]





	
	

	 
		C.
	
[image: /files/assess_files/d8b1ce38-f9b0-46dc-aa64-8c21c8f42b56/I381510_3.png]





	
	

	 
	 

	14.
	Erin packed a backpack for a camping trip. The instructions on Erin’s backpack say the backpack must weigh less than 25 pounds when packed. Erin will be packing a 5-pound cooking kit and other supplies. Which inequality best describes w, the weight in pounds of Erin’s backpack after she packs it?

	

	 
		A.
	[image: /files/assess_files/6d701181-2474-46f9-8dd2-587768ef1ae1/I44257_61.gif]




	
	

	 
		B.
	[image: /files/assess_files/7ded4d3f-b1ae-4385-b3eb-8d4e047b539d/I44257_62.gif]




	
	

	 
		C.
	[image: /files/assess_files/18e1549f-b7bd-4c66-b71c-ebd621c00bfd/I44257_63.gif]




	
	

	 
		D.
	[image: /files/assess_files/56ac9706-d213-4077-b412-186b4a49e02e/I44257_64.gif]




	
	

	 
	 





	15.
	Which set only contains numbers that make the inequality true?


[image: /files/assess_files/5520c886-a3f2-469a-8d69-87d350a70c38/I629225_4.gif]

	

	 
		A.
	{3, 4, 5, 6}




	
	

	 
		B.
	{7, 8, 9, 10}




	
	

	 
		C.
	{10, 11, 12, 13}




	
	

	 
		D.
	{12, 13, 14, 15}




	
	

	 
	 

	16.
	The maximum safe weight for an elevator is 600 pounds. Which inequality represents this safe weight limit, w?

	

	 
		A.
	w <>




	
	

	 
		B.
	w ≤ 600




	
	

	 
		C.
	w > 600




	
	

	 
		D.
	w ≥ 600




	
	

	 
	 

	17.
	What inequality is graphed on the number line below?


[image: /files/assess_files/8e79be9c-8fc3-4d01-938f-a57392b66b9f/I91003_61.jpg]

	

	 
		A.
	[image: /files/assess_files/f5520dc9-a8f2-4b78-9699-7c748efe6f9d/I91003_57.gif]




	
	

	 
		B.
	[image: /files/assess_files/b61f58d1-2c2d-4820-b4ef-77ab17a35df4/I91003_58.gif]




	
	

	 
		C.
	[image: /files/assess_files/05e79254-cc1d-4bf3-8f19-ba425702d257/I91003_59.gif]




	
	

	 
		D.
	[image: /files/assess_files/520b7e52-c14e-454b-9502-9b2020e2ad53/I91003_60.gif]




	
	

	 
	 




	18.
	Robbie wrote the inequality below to represent s, the cost of the school supplies he needs to buy.


[image: /files/assess_files/49e47f38-2cf0-4fb5-babf-c19073e6f5d3/I44196_16.gif]
Which statement is represented by this inequality?

	

	 
		A.
	Robbie estimated that his school supplies will cost $38 or less.




	
	

	 
		B.
	Robbie estimated that his school supplies will cost $38 or more.




	
	

	 
		C.
	Robbie estimated that his school supplies will cost $38.




	
	

	 
		D.
	Robbie estimated that his school supplies will cost less than $38.




	
	

	 
	 

	19.
	After Harold went shopping, he had less than $4.50 left. Which inequality represents m, the amount of money Harold had left after shopping?

	

	 
		A.
	[image: /files/assess_files/a829a8aa-d7b2-4817-afbc-22ad04938c1b/I28500_61.gif]




	
	

	 
		B.
	[image: /files/assess_files/92d62c5d-830b-4aad-a5ff-766c176250ae/I28500_62.gif]




	
	

	 
		C.
	[image: /files/assess_files/c054b45c-381d-4531-8bfc-c0111a0cfa17/I28500_63.gif]




	
	

	 
		D.
	[image: /files/assess_files/d509205f-a0e0-43f4-9141-ed2d471328a3/I28500_64.gif]




	
	

	 
	 

	20.
	Ms. Engels is grading her students’ math assignments. She knows that it takes 12 minutes to grade each assignment and more time if she writes comments. She has 20 assignments to grade. Which number sentence best describes g, the amount of time Ms. Engels will spend grading the 20 assignments?

	

	 
		A.
	[image: /files/assess_files/5086d910-880e-429b-8313-dc4344583a9f/I44480_61.gif]




	
	

	 
		B.
	[image: /files/assess_files/019406f5-e14d-4584-a2f0-a7519a6f8975/I44480_62.gif]




	
	

	 
		C.
	[image: /files/assess_files/2ed98c24-6d93-40c4-928a-5cc0f1fb5de8/I44480_63.gif]




	
	

	 
		D.
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